L ectuve A2 \

Tdeat Fermi gas

NN

~ 3
M hoeat % —*93,1(%) R Jwe
v ==
v N = kT
Y o ~ T
= — dx
g‘lz{i N g A1+ 271e™

£, (2) = s g""d gi;_J - =%{f‘*%§,ﬂ@
et oy dy=2xde,
T
- 30 o gV
® 37 49 L?in”z e
T 3
‘4 felt < [0 + 29Tt ]



9 - 2 1
So, {4 (2)= 25 [T+ S L% |
’\94\04/‘&
B co _tlf\{t
Iv\ - -iodt ({t-ﬁ])z
pm—

Ih:07 odd M

[ = Gmnl e (=27 Bl

Nn>0




NMors, @rsider 2= «<q @ VIS5 A
1V ek #deets

2P o KRt
N2 = R <4
P _ peg 2 Tt
A— XL L~ ot
. e%_ gtaj(?- N
EW’\? ) /\}E%’%SIJr ]:
: z) = s -
R T
{ : A 4
= Sl U
2 R e
i Ls  the Lo
w-9 C,M'(W\



/V\O/x/t7 Cons e A%

= 51 0 VU LN

v 7t , kaMJb\A/VV\
A ecks giﬁ\j):-;;cmot

Qo thos case, A (25h V]
L) = am ey
o~

U\ M T
7\$
by Aoz = (D) (2%)"
\\ )
.F)GF' 3
223 _ 923 x2%*
7 Uy ? =
o G == (X B T T T
f\\/ivi,j-—J = 57
; - 2'517.
Covine 2w gy (chomest B
P T A 1T=0
@ D 2=¢PEF a3
Rocale ik A A T=20
<n;7= -
A+ 212 PEP
T4
- '\"(’&P(éf, "6(:)




Mons,  assume Gfmvbdz& oIy Sp S,t’g‘”"“

(25+1) 2 <Vp7 X N
A P >0

Lacky  wnenr peor =
13

M Con S R 2541
SPFQ\QF P’D_ U\St = {\// Cy~

0

! \Jf
Haon  (2544) m')';

N 5544 ST |2 o R
T = Go = Pr o, yeldug

V

/

. 4% (GC)T} )ZB ConSLS ey

é‘r_— - 2 WA (25+1)\ Aot Eq? (‘*’)
& S=o
——
M= T teg.= Y /
2
R cale hak ESg Jg3/1(%> :?”(5:5 [(XM&%) ’
52 Ay _ M %)3’2 4+—»(*@°3%)’7’}
, ‘{? (:)C'L ';—J\(‘m
ERES - = a
TR T el
'S to
u\;:}g% Q'F\rée\f"
Z 3 @\, o TL kel Y
&%% = (';‘6_ “ [,\ b % ( E¢ ]
T2
W 12
2 e .



RMJL%,
M= \(g\%?: ~€F[4-—E ke‘T)] (% %)

7

ke T

Lo tns W —
(S VaN é -













sf’ kel )
X (f)éF) z (éf:
a2 ke T \Z
@9%%) 2 (y,ee)g”‘[’\“ﬁ" §£ ( éF) J
g

C ool ( ) (pee) =

S
_ﬁf’i—- W\W?‘ “ & e 7 -

1o 2o~ S)la S) 272 ’\?W\%‘
L NEITo e S NG T e ©

Mews, €= (B2)(55) | or

-7 —



W\Sjlﬁ _ é '%/l (2“1/?_ 66)_\’-1>

)
. ) )
2= _
-3 -3 — —-"';__— -
© NeS ¢ (270 eF) o
6 I
= Néegg = 5N
e

e 1 5JL ke.T
%« A= “‘f\/éF["—SJt( ( 2: )‘]

- 2 NEe ["*‘ET (m)J s s
p—
s> 5 10 _ 5 -
3 24 24 12 QED




